
04-24-2023

Ethos Rear Base Frame 

Replacement Rear Base Frames can be quoted but must be ordered through Customer Service
 

Item Number Part Number Description Quantity
1 - 4, 10, 12,
13 RFETRR Replacement Ethos Rear Base Frame, Right 1

1 - 3, 5, 10, 12,
13 RFETLR Replacement Ethos Rear Base Frame, Left 1

1 - 5, 10, 12,
13 RFETPRR Replacement Ethos Rear Base Frame, Left and

Right 1

1a 003868 Base Frame Bushing, Black 2

1b 107711_ _ _ Base Frame Bushing, Highlight Color 2

2 003869 M5 Barrel Nut 6

3 003870 Barrel, M5 FHCS 6

8 101845 M6 x 22 SHCS Blk Zn 2

9 102810 M6 Lockwasher, Hi-Collar, ZC 2



04-24-2023

Item Number Part Number Description Quantity

10 103321 M5 x 30 FHCS Blk Zc 2

11 103505 M6 x 1.0 Square Nut Blk Zc 2

12a 003867 Vertical Upright Bushing With Flat, Black 4

12b 108060_ _ _ Vertical Upright Bushing, Highlight Color 4

13 103322 M5 x 20 FHCS Blk Zc 4


